AP Physics  - Electric Circuits, DC
Series Circuits

Rules For Resistance in Series:
1. current in every part of circuit is same.

2. total resistance in circuit =  sum of all resistances.

3. total voltage =  sum of all voltage drops.


[image: image23.wmf]35

W

W

45 V

85

R

R

1

2

 

I = I1 = I2 = ( ( ( = In 


[image: image2.wmf]V

V

V

V

n

=

+

+

×

×

×

+

1

2

 

· [image: image1.wmf]R

R

R

R

n

=

+

+

×

×

×

+

1

2

find the total resistance and the current.

Find R:   
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Find I:   
V = IR,          
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I = 0.196 A
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· Yet another problem.  Figure out the total voltage and the current in this circuit.

find current through R1 :
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I = 0.267 A


This is total current
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R = 120.0 (
V = IR

V = 0.267 A (120.0 A)




V = 32.0 V

Parallel Circuits  ( current has more than one path

Rules for Parallel Circuits:

1. voltage same across each leg of parallel circuit.

2. total current is =  sum of currents through each leg.

3. total resistance is less than the resistance of any one branch.  Rciprocal of the total resistance is equal to the sum of the reciprocals of the resistance of each branch.

4. Ohm's law applies separately to each branch.

total resistance:
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I = I1 + I2 + ( ( ( + In  
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· Look at this circuit: find the total resistance, total current, current through each leg.

Basic Equations:
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V = IR



I = I1 + I2

V = V1 = V2
Resistance.
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Current: 

V = I R, 
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Current through each branch:

V = I R,   
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Equivalent Circuits:









Another:
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